An engineer experiments with a sample of 2 vascular plants (V) and 4 nonvascular plants (N). She randomly selects two plants for further experimentation.
(a) find the probability that the first and second plants are (N) with replacement (With 

     replacement means a sampling method to select samples in which items are replaced 

     between successive selections)

(b) find the probability that the first and second plants are (N) witout replacement (With 

     replacement means a sampling method to select samples in which items are not  

     replaced between successive selections)

